Clo

e b

=
o

1. F e FALE BA 94 o, F =2 247} 3 o]
g &2 otof=h

2. Fojy &o] Rofu 37|17 gL AL Fol 6 7Y, 3
o] 4 7 B0l Stk o= g HE A o, 20
9l 3d FE27

2 3 1 1 1

@ 5 @ 5 ® 4 @ 10 © 6

3. tF A-F Zol AN B A/~
@7k del s pea AR5
C 27k ol 27w, AM BEAA C 2
7he W2 BE 2 7] R17] Fofofet,

4. AA 9491 ool BRo} BEES WS 38
o\ 273, LA B ul, F AR B HolE AT
W SEL

3 1 19 2 7
Yy 9% 9% @5 9%

5. 10719 AH] FollA &

A AWZE 4707F Q. o] Al
HIE ALSiA 2718 B2

= o, 27] 2% g Al

EERY)
4 6 1 2 7
Op @5 @7 @5 OF

st m 7}t

=H O

6. A B, C, D, E9 5%°] 3tt. 3 F& Hot o &=
A= 359 &2
@ 15 714 @ 30 714 ® 36 7HA]
@ 60 714 ® 120 7H4]

7. A, B, C, D, E, FoIA Ho] 3t &2 0] o, F
7t il gFof] M= A9l =7
@ 60 @ 80 3 100
@ 120 ® 720

Agtel bt
gt AA?
@ 10 ¥ @ 20 ¥ ® 454
@ 90 H ® 100 #H

9. %@O]% 1E5 _(ﬂ ]ﬂ}qz_ﬂ.6}_E4 3}117]_ %q 5_];
woll Wi vl o =2A A=t v E a1 7t
sttt o Fok g2 1 2 4 27
@ 24 ® 30




10.

11.

12.

13.

& 23 2o 39 AL PN
Zat 2719 3 Fo] ol U ~
Foidd A e gy Q
A Folgm A%stel 144 Q
270 9] BL D W, A2 2L

Ho] Fol b SHEe?

6 13 1 3 1
YV 9% 91 91 9%
e 1YL TE ol
Que e ol gn 7 g 1 N
2 #7477 e 93 /7 :
2 o), e} 45 B 4
of vipol e HES 7ok \° ’
of e}, (& HEE 194 8 O
729 527 % shife]] B
o)

Az ThE F49] AB B AAA A o4 e &9

FE 2z, B oA L2

o] HYot 490 55

Fo] 5

22 30ty <8
afolat,

14.

15.

16.

18.

A} Qbel 1 oA 9 7HA 9] S7prh 22t HEl Ahest
STk, AFRFol A A= B A S ol A o, Sxbo]
o] Hzo] 58 Faholat
ol g ol S 1 ohg W ol & HEL |
o) T, o] 7] QrotthH I ThS & o] & SHEL
é olth. ol 2o 5 o] iro] hrbw, 7 A% o]
2 889 Faholat
0, 1,2, 3, 49 527} A3 540 FHEolH 242
ol £ Apg) ALE GE o, 71 27} 49] B4
82 7abola

_ - 2
S0P} 53 £AE B FEL 2 ol S0 A £

24915 3 3 |AA e 0] £8 747} g,

i, = A y=ax+b%y=0br+c7t
L= Q9] &2 BT JLdloja},

—

b, c2t &
g+ ol A

=
an

A

d

Sy
1




19. 0, 4, 5, 7, 89 &=} Z+2F A3l F&o] 71 FHY
oNA F& 370 AW T 5 U= Al Ao A=
o= 9 7Ez]QA7E?
D 45717 @ 46714 B 47714
@ 48714 ® 49717
20. A, B, C, D 4| 7l9] ut& Atolof th5 g} T2
Z2o] Qltt, g upSoA ThE uhE 2 o] 5= & I,
o1F ol 1 e A9 et b e B9
o] L7
/B
¢§7\\B
=
D 2714 @ 3714 ® 47}
@ 5714 ® 6714
21 e el 7, 2 Fiel U, BE el v
=91 = FHUA A o] L& d oo, A3
M= F2 145, F HAl= 42 ?L—%, M HA = 2
F&o] Ug FES P (B AW TE2 AE
sholshi Fmu o] hA] Yiet)
4 1 1
@5 @ o ® 3
11 5
® 3 © T
22. % 9] FANE S G o), e =9 77} 3
ol4fo] & &E27
1 1 5 1 1
O3 @3 O ®5; ©9F%

24.

25.

ABCDE5E§%01]/\13“5%%0}@%§*ﬂ%
o, A 7} B Bt} ¢l AA] 2 &&E27

1 1 1 3 1
O @3 P9 @5 ©9Of
Foly o de T 3, 5t T 2oh, 9 F 2t
=01 e}, o] FHYA A E SF X F H d
o, & 79 Fo] T2 MY 5o =2 AR
A%t ALY
O dT>Ae >
@ nEtET-AT-_He T
@A F > F >3 F
@tz F>@aeT
G A Z>uH T3 3%




